Dhruv Consultancy Services Limited

501, Plot No. 67, Pujit Plaza, Opp. K-Star Hotel, Sector-11, C.B.D. Belapur, Navi Mumbai – 400 614 Telefax No. +91 022 27570710, Mobile No. 9619497305, Website : www.dhruvconsultancy.in Email ID: <u>services@dhruvconsultancy.in</u>, <u>info@dhruvconsultancy.in</u>, CIN No. L74999MH2003PLC141887

DHRUV/OUTWARD/2024-25/4425

November 21, 2024

Corporate Relationship Department BSE Limited Phiroze Jeejeebhoy Towers, Dalal Street, Mumbai- 400001 Fax No. 022-22723121/3027/2039/2061 Security Code: 541302, Security ID: DHRUV ISIN : INE506Z01015 Listing Department National Stock Exchange of India Limited Exchange Plaza, C-1 Block G, Bandra Kurla Complex, Bandra (E), Mumbai -400 051 Fax No. 022-26598120/38 Scrip Symbol: DHRUV

Dear Sir/Ma'am,

- Sub: Approval of Variation Proposal for Providing Consultancy Service for various additional works in the State of Maharashtra.
- Ref: Disclosure pertaining to Regulation 30 of the Securities and Exchange Board of India (Listing Obligations and Disclosure Requirements) Regulations, 2015, as amended ("SEBI Listing Regulations")

With reference to the captioned subject and in accordance with Regulation 30 of the SEBI (Listing Obligations and Disclosure Requirements) Regulations, 2015 as amended, we wish to inform that Variation Proposal for Providing Consultancy Services for various additional works, as enumerated below, has been approved by General Manager(Technical), National Highways Authority of India vide letter reference number NHAI/PIU/SLP/NH-65//IE/2023-24/2981 dated November 13, 2024 as received by the Company on November 21, 2024.

- Construction of works in the state of Maharashtra on EPC mode; A) ROB at km 377+800 along with approaches at Bhaiya Chowk Junction & Service Road from Ch. 365+740 to Ch. 366+580 (BHS) on Sangli - Solapur section of NH-166, B) VUP at Ch. 210.592 (Yawali) including SVUP at Ch. 211.139 on Pune Solapur Pkg-II section of NH-65, C) VUP at Ch. 36+580 along with street light work on Solapur-Yedeshi section of NH-52.D) Service Road from Ch-129+440 to 129+990 RHS, Ch. 129+750 to 129+990 LHS, Ch. 135+650 to 136+100 BHS, Ch. 101+750 to 102+050 BHS, Ch. 104+200 to 104+780 RHS & Widening of Box culvert at Ch. 104+759 on Akkalkot - Solapur section of NH-150(E).
- 2) Construction of works in the state of Maharashtra on EPC mode; A) Market Yard Flyover on NH-65 (Pune-Solapur) at Ch. 251 +800 (design Ch. 0+000 to Ch 2+000) (Market Yard Junction), B) Construction of VUP at the Sonegaon junction at Ch. 79+600on Solapur to Yedeshi Section of NH-211, C) Construction of SVUP at Vitthalwadi Km 249+920, Service Road at Junoni Junction from Ch. 258+445 to Ch. 260+100 on Boregaon Watambare section of NH-166, D) Service Road from Ch. 339+550 to Ch. 341.100 on Mangalwedha Solapur section of NH-166 E) Construction



Dhruv Consultancy Services Limited

501, Plot No. 67, Pujit Plaza, Opp. K-Star Hotel, Sector-11, C.B.D. Belapur, Navi Mumbai – 400 614 Telefax No. +91 022 27570710, Mobile No. 9619497305, Website : www.dhruvconsultancy.in Email ID: <u>services@dhruvconsultancy.in</u>, <u>info@dhruvconsultancy.in</u>, CIN No. L74999MH2003PLC141887

of Service Road from Ch. 339+550 to Ch. 341.100 on Mangalwedha Solapur section of NH-166.

- **3)** Construction/widening of service road and installation of street lights on Solapur Yedeshi section of NH-52.
- 4) Blackspot works on NH-65, 52 and 150 on standalone basis ongoing and upcoming.
- 5) Repair and maintenance work for (2/4/6 lane) stretches under PIU Solapur in the state of Maharashtra: Maintenance for Karmala-Tembhurni section of NH 516A KM 80/600 to KM 140/080 in the state of Maharashtra.

Contract Price for the said Project will be Rs. 2,19,74,704/- excluding GST (Rupees Two Crores Nineteen Lakhs Seventy-Four Thousand Seven Hundred and Four Only). The Contract period will be of 18 months.

Declaration as per Section V-A of SEBI Master Circular No. SEBI/HO/CFD/PoD2/CIR/P/0155 dated November 11, 2024, is enclosed as Annexure- A.

You are requested to kindly take the same on your record.

Thanking you, Yours faithfully,

for DHRUV CONSULTANCY SERVICES LIMITED

TANVI T AUTI Managing Director DIN :07618878



Dhruv Consultancy Services Limited

501, Plot No. 67, Pujit Plaza, Opp. K-Star Hotel, Sector-11, C.B.D. Belapur, Navi Mumbai – 400 614 Telefax No. +91 022 27570710, Mobile No. 9619497305, Website : www.dhruvconsultancy.in Email ID: <u>services@dhruvconsultancy.in</u>, <u>info@dhruvconsultancy.in</u>, CIN No. L74999MH2003PLC141887

<u>Annexure A</u>

Sr. No.	Particulars	Details of Project				
а.	Name of the entity awarding the order(s)/contract(s);	National Highways Authority of India				
b.	Significant terms and conditions of order(s)/contract(s);	General Contract Conditions				
C.	Whether order(s) / contract(s) have been awarded by domestic/ international entity;	Domestic Entity				
d.	Nature of order(s) / contract(s);	Providing Consultancy Service for various additional works in the State of Maharashtra as specified above.				
e.	Whether domestic or international;	Domestic				
f.	Time period by which the order(s)/contract(s) is to be executed;	18 Months				
g.	Broad consideration or size of the order(s)/contract(s)	Rs. 2,19,74,704/- excluding GST				
h.	Whether the promoter/promoter group/group companies have any interest in the entity that awarded the order(s)/contract(s)? If yes, nature of interest and details thereof;	No				
i.	Whether the order(s)/contract(s) would fall within related party transactions? If yes, whether the same is done at "arms length".	No				



भारतीय राष्ट्रीय राजमार्ग प्राधिकरण

(सडक परिवहन और राजमार्ग मंत्रालय, भारत सरकार) National Highways Authority of India

(Ministry of Road, Transport and Highways, Government of India) परियोजना कार्यान्वयन, इकाई. सोलापूर (महाराष्ट्र)

Project Implementation Unit. Solapur (Maharashtra)

कार्यालय : प्लॉट नं. ई-२, जय जलाराम नगर, शिवदारे कॉलेजच्या मागे, जुळे सोलापूर, सोलापूर-४१३००४ (महाराष्ट्र) Office : Plot No. E- 2, Jai Jalaram Nagar, Behind Shivdare College, Jule Solapur, Solapur - 413 004. Tel/Fax - 0217 2303379 ई–मेल /Email : solapur@nhai.org; piusolapur@gmail.com * वेब /Web : https://nhai.gov.in

No.: NHAI/PIU/SLP/NH-65/IE/2023-24/2981

Date: 13.11.2024

To,

Shri. Sandeep B. Dandawate

M/s. Dhruv Consultancy Services Limited. 501, Pujit Plaza, Palm Beach Road, Sector-11, Near CBD Station, Navi Mumbai -400614. S <u>ervices@dhruvconsultancy.in</u> <u>info@dhruvconsultancy.in.</u>

Sub: Independent Engineer services during O & M phase of (i) Four laning of Solapur-Yedeshi section of NH-211 from Km. 0.000 to Km. 100.000 (Design Length 98.717 Km), (ii) Four Laning of Solapur-MAH/KNT Border from Km. 249.000 to Km. 348.800 Section of NH 9 (Design Length 100.06 Km) and (iii) Four laning of Pune-Solapur section of NH-9 from Km. 144.400 to Km. 249.000 in the State of Maharashtra - Variation proposal (Financial Implication) for Providing Consultancy Service for various additional works - Reg.

Ref:

- i) IE Solapur-Pune O&M Contract Agreement Signed on dated 14.02.2023.
- ii) IE letter no. DCSL-SSSP/ NH-65 / NHAI /2024-25/4090 dated 05.11.2024. (RD-06.11.2024)
- iii) T/o. Letter No. letter no. 2936 dated 08.11.2024 (E-file no. 265916)
- iv) RO-Mumbai E-file no. 265916 dated 13.11.2024.

Sir,

With reference to the subject cited above, this office is in receipt of your letter regarding - Variation proposal (Financial Implication) for Providing Consultancy Service for various additional works vide ref. at (ii) above.

- 2. This office has recommended the variation proposal for approval of Competent Authority, with total financial implication of **Rs. 2,19,74,704/- excluding GST** vide ref. at (iii) above.
- 3. Accordingly, the Competent Authority RO Mumbai has conveyed the approval of variation proposal of existing IE for supervision of work, with financial implication of Rs. 2,19,74,704/- (excluding GST) Annexure -I vide ref. at (iv) above. The details of works are as below;
- 3.1. Construction of works in the state of Maharashtra on EPC mode; A) ROB at km 377+800 along with approaches at Bhaiya Chowk Junction & Service Road from Ch. 365+740 to Ch. 366+580 (BHS) on Sangli Solapur section of NH-166, B) VUP at Ch. 210.592 (Yawali) including SVUP at Ch. 211.139 on Pune Solapur Pkg-II section of NH-65, C) VUP at Ch. 36+580 along with street light work on Solapur-Yedeshi section of NH-52., D) Service Road from Ch-129+440 to 129+990 RHS, Ch. 129+750 to 129+990 LHS, Ch. 135+650 to 136+100 BHS, Ch. 101+750 to 102+050 BHS, Ch. 104+200 to 104+780 RHS & Widening of Box culvert at Ch. 104+759 on Akkalkot Solapur section of NH-150 (E).
- 3.2. Construction of works in the state of Maharashtra on EPC mode; A) Market Yard Flyover on NH-65 (Pune-Solapur) at Ch. 251+800 (design Ch. 0+000 to Ch 2+000) (Market Yard Junction), B) Construction of VUP at the Sonegaon junction at Ch. 79+600on Solapur to Yedeshi Section of NH-211, C) Construction of SVUP at Vitthalwadi Km 249+920, Service Road at Junoni Junction from Ch. 258+445 to Ch. 260+100 on Boregaon

() and

Watambare section of NH-166, D) Service Road from Ch. 339+550 to Ch. 341.100 on Mangalwedha Solapur section of NH-166 E) Construction of Service Road from Ch. 339+550 to Ch. 341.100 on Mangalwedha Solapur section of NH-166.

- 3.3. Construction/widening of service road and installation of street lights on Solapur-Yedeshi section of NH-52.
- 3.4. Blackspot works on NH-65, 52 and 150 on standalone basis ongoing and upcoming.
- 3.5. Repair and maintenance work for (2/4/6 lane) stretches under PIU Solapur in the state of Maharashtra: Maintenance for Karmala-Tembhurni section of NH 516A KM 80/600 to KM 140/080 in the state of Maharashtra.

4. This is for your information and necessary action immediately. **धन्यवाद** !

भवदीय

(राकेश जवादे) महाप्रबंधक (तकनीकी) तथा परियोजना निदेशक, भा.रा.रा.प्रा., इकाई. सोऌापूर.

संलग्नः उपरोक्त

प्रतः

- i. CGM (Tech.), & RO Mumbai for kind information please.
- ii. Project Director PIU Pune for kind information please.
- iii. M/s Nikhil Construction Group Pvt. Ltd. V. S. Patel (JV) for kind information
- iv. M/s PRL Projects and Infrastructure Ltd. JV with M/s. Goyala Infra Projects (P) Ltd. for kind information
- v. M/s. NP Infra Projects Pvt. Ltd for kind information
- vi. M/s Nikhil Construction Group Pvt. Ltd. for kind information
- vii. M/s D C Ajmera- for kind information
- viii. M/s Jai Hind Road Builder- for kind information
- ix. Master File.

Annexure - I

Sr. No.	Position	Rate	Period in Months				Total Amount
I. Rei	muneration for Local Staff		6	18	18	12	
			A	B	C	D	
(i)	Professional Staff			Const		Main	
1	Bridge Engineer	95,000		18			17,10,000
2	Sr. Quality and Material Engineer	1,00,000	18		-	18,00,000	
3	Traffic and Road Safety Expert	50,000	1	1	1	-	1,00,000
4	Contract and legal expert	87,071		24			20,89,704
							56,99,704
(ii)	Sub-Professional Staff				1		
1	Assistant Bridge Engineer	40,000	3	30	30	-	25,20,000
2	Assistant Highway Engineer/ Pavement Engineer	35,000	3	30	18	12	22,05,000
3	Survey Engineer	66,000	3	15	6		15,84,000
	Quantity Surveyor / Documentation						
4	Expert	30,000	3	18	6	0	8,10,000
5	Utility Expert	75,000		5			3,75,000
							74,94,000
(iii)	Support Staff						
1	Technical Supervisor	40,000	3	54	18		30,00,000
2	Datalake Operator	35,000	18				6,30,000
							36,30,000
			Conv.		100	1	1,68,23,704
ll. Du	ty Travel to Site					-	a di sena di seconda d Seconda di seconda di se
1	Vehicle (equivalent to Swift dezire)	35,000	6	18	12	0	12,60,000
2	Vehicle (equivalent to Ertiga/Scorpio)	65,000	6	18	12		23,40,000
							36,00,000
111. 0	ffice and Office Equipment		1.8		1.1.22		
.1	Office Rent	55,000	18				9,90,000
2	Office Supplies	10,000	18				1,80,000
3	Drafting Supplies	10,000	18				1,80,000
4	Computer Running Cost	10,000	18				1,80,000
				Sal Sal		. 49 P.S	15,30,000
V. Re	ports and Document Printing						
1	Draft Bidding Documents	10,000	0				-
2	Final Bidding Documents	10,000	0				-
3	(i) Monthly Reports (A+B)	500	6	18			12,000
	(ii) Monthly Reports (C)	500			18		9,000
			1.22				21,000
		III+IV)	2,19,74,704				

0